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2.2A Operations with Rational Expressions

(Multiplying and Dividing)

A concrete example: A concrete example: .
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Ex.1 Simplify the rational expression. State the restrictions.
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Ex.2 Simplify the rational expression. State the restrictions.
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Ex.3 Simplify the rational expressions. State restrictions.
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PROCESS
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1. Factor both the numerator
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4. State restrictions.
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Ex.4 Simplify and state restrictions. M -2
. o~
2 2 C) / Ny oou
NT g : -0 1
| 2x° —5x-3 4x°-8x-5 2 s
e , 2x° —1lx+15  4x® +4x+1 S
M3 © — NN 4
A = N g
" é = N 4
T = > =
1 (a“/ﬁ( l
- = D | GesYaes X2
|

Ex.5 a) Write and simplify an expression that represents th@f the large
rectangular area to the shaded rectangular area. _E
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